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1. 

Candidates are required to give their answers in their own words as Jar as practicable. 

The figures in the margin indicate jiill marks. 

GROUP-A 

�'51-<:fi 

Answer any three of the following questions : 

a) What do you mean by "Effective Rate of Protection'' ?

b) What is the role played by demand in tht' r lcckscher-Ohlin model ?

��--efc;;t �rC\SCci t>�--rn �N<t>l � ?

3 X 4 = 12 

c) What is Leontief Paradox in International trade ? Suggest any one explanation

of this paradox.

�� �J f�rn--1fflur�1 �� <f""Gf05 � � ? ..!1� 'ft',115IC>i� 8l �� -£1�-fu -m�m

�I

d) What is the difference between nominal and real exchange rates ?

e) What is ·voluntary export restraint' ?
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2. 

3. 

Answer any one question lx9=9 

a) Show two special cases where the entire gains from international trade are due
to production specialisation and gain due to exchange.

�Jr, � l!lfc:1�� �"<fn <l>9<i 81� �w� � c� qff� �� ���

��<t>�'1 C�<f) '-bl'�M1 �Rm:J ">r-&r<-1...0 c�� �� �"11 1 

b) Can you think of a situation where demand conditions cause trade patterns
that violates l leckscher-Ohlin theorem ?

\bl'l9fH f<ti -£1�..i -£1<1>-re l,!)l<l� �T<tl'!i 91lr�..i ��c--i 1,r&�1� ��<t>1 c��,,rn-'<3f;frt �919fft\.tf� �
"<pc·tfC� ?f�<l�� <fl�C<l ?

Answer any lhree of the following questions 

81 C<t>T.f fw.:$ �C'£f.<l �� � � 

3 X 15 = 45

a) 

b) 

i) F"rom lhe negatively sloped demand curve and positively sloped supply
curve, of a nation's tractable commodity determine (A) the nation's 
demand curve of imports of the tractable commodity for below the 
domestic equilibrium price and (B) the supply curve of imports of the 
Lrndable commodity for above domestic equilibrium price. 

�<t$ .!'.1C-<ITT1 ��� 811'iff-l C�"<ll '6 �� 5m_111 C�"<ll �¢1 �rl 0fci'l � Jiffl 

�mf!'1 ��ms f<I"\� ;rt� cQl<:<t> \!iB �-rr.fl Gt"<ll �<r� '6MJ-ll�J Gt� -a� c� 
� �� @"<fl f.tcfu � 

ti) "For every import quota there is an equivalent import tax." E?(Plain with 
suitable diagram. 9 + 6 

i) 

"�N)lG �T-.!l �� �lV!� -!!<t>l'G �ci �\.t� {3� <r��� 1" WCJrn �$ <IJ1"<!Jl 
��� I 

State and explain the basic assumptions of the l lcckscher-Ohlin 
theorem. 

·�-'8�' �� � '51-!��� <Ul"<!Jl ��

ii) Establish the I Ieckscher-Ohlin theory of trade in terms of physical
definition of factor abundance.

��9AAC� t�rri:nt.:t� �� � 05i\5 �\�� ( physical definition ) '!3� �
�@ C�1ITTl-'6�-l � �m <ti�;i I

ill) In what respect does Heckscher-Ohlin theory represent an
advancement over the Ricardian theory of trade ? 5 + 8 + 2

�-'!3� �m � <;5fC� �-l'9TJ1 �lctm � c� � ?
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c) 

d) 

i) 
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Disting'uish between autonomous and accommodating transactions in 
balance of payments accounting .. 

C<10'r-fir1£ ca,.-1�-..i �urc!7f0rn �c<r� 0t>--c� -��\� 1£1 .<1\ ">i)l�$[<.fit� cc,;ic�-c--1� m:�n 9fl�<tSJ 
Cl-T� I 

ii) "In an open economy under fixed exchange regime, policy makers are
faced with a potential conflict between achieving domestic targets and
maintaining equilibrium in balance of payments." Do you agree with the
statement ? Give reason in favour of your argument. · 10 + 5

i) 

'I!!� c� '5[� ( open economy ) �� �m$1 � ��CF[ � �W.<f"<fi'if'1
'5f'5J�'f �J '9j_9 <!)�11£1<1\ <fl1'1�T<1S C:G'f.f��;,t �"Jil1�J � c� 9Bi�� ���
��<r �"ll�., �.;r 1" ''5l'f?fH � 1£1� �-ro �<t> �cc, �� <t-<:{f.:i ? �{e-c?1� �� <in� 1iR 1

Show that both the countri.es in international tradeare gaining under
Ricardo's comparative cost theory.

cw�.rr.:i C<J Br�Cl5T.<f ���C'f<fl WJJ � '¢1-i�C<f '¢11���<!) <ITT'rCl9TJ \5f\Xf����� iffe �
\'.s91t�� I

ii) State the main difference between a small country and a large country
in international trade. 9 + 6 

�\Sr� fflC�� C�Wi 1£1<1'lfG 'f�� 01"'1 '-!3 1£1<!$ �a � �� �� 9fl�<1SJ � ? 

e) What is the diff crencc between optimum tariff and prohibitive tariff ? Can you
think of a situation where domestic· relative price falls due to the imposition of
tariff? Explain this paradoxical result. 5 + 10

<f)� '5f'()l� ·�-c� m 1£1<!\ �Qi� ( prohibitive } �f.TI {'3� � �(fJ 9fl� � ?

�1�ll11-TI �� �<fle?f?:f <FCF! ��l-TI<f\5 � �¢1rll�il4<1l � c� �(fl� c� - 1£1� I!!�
��� 91rn�N>� <1TI� � I

GROUP- B 

�,t-� 

Answer any three of the following questions 

�-���?I ffl W1 � 

a) Draw and explain the concept of 'Laffer' curve.

C�� �� <P� '��, C1</Bl (f1�'11TU <f�ff �.:f I

3 X 4 = 12 

b) Explain the grounds for government intervention in a market economy in the
case of primary education.

<ffsSTrn '5.1� �C(f} ��<tS mr�Ql �-.p� ��c�-l?f?:f ';[��� <1Jl'<ffl �� I
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2. 

3. 

c) What is meant by 'double-taxation' of saving?

>t�Q..I� "391":<1 'l_<$1 �� �191"1 <fG'fC� f<ti C<lTC<lf� ?

d) Explain the alternative concepts of ·equal sacrifice· in laxation.

e) Explain the concepts of horizontal and vertical equity under lhe Ability to Pay

Principle of taxation.

Answer any one question l X 7 = 7 

a) Critically evaluate lhc Ability lo Pay Approach as a satisfactory rule of taxation.

b) Analyse the cff ccts on savings of a proportional income tax and equal yield

expenditure tax.

<!l<t>rti :>Jm19'1�<t> �c�<f �qi� ..£l<l"� � '5frn� <frn<r>rn� >i�nr� -a� ��1<1 )T�<f; �
'51TCG1W� ��

Answer any one question lxl5=15 

a) Do you support the t raditional view or the Rlcardian view of Public debt? Give
reason.

��<f)T� '<lll'BI :)j�--1 � �rt �� '8 fiii<t>K\51� \!>C-Q� )!Ct!J �9ff.l C<!>l�t<!> ��Cf�'>tJ �� �'TI:1�

��(�?

b) '1'hc equal sacrifice principle implies progressive taxation." Do you agree wilh

lhis view ? Give reasons for your answer ..

'">!�-l '!>11'>1 �� �'>1�� �qi� f;io-(-xi <t>BI I" �9fH � ,.£)� �� )
T01 ,.£)<!>�� ? �9f.if� �

�l9f� � fi1"�
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ECONOMICS - HONOURS 

Paper - VI 

ECOA (HN)-06 

, 

Duration : 4 Hours Full Marks : 100 

1. 

Candidates are required to give their answers in their own words as Jar as practicable. 

The figures in the margin indicate full marks. 

GROUP-A 

��-� 

Answer any six of the following question�: 6 X 4 = 24 

a) Distinguish between marketed surplus and marketable surplus of foodgrains.

b) Do you agree· with the view that land reforms is a necessary condition for
agricultural development in LDCs?

c) What are the various types of credit the rural people in India need?

�Bl�� �'1 \Sl•P'fl�'f � f.ls ��.:@ �i'f.� � �(! �T.<fi ?

d) Mention the reasons for deceleration in the rate of industrial growth in India
since mid-sixties.

�re�� �<ti� �1<1t1�lf.v )i�HJ c�� �1?r1·;,�-� iirct11�9flit.:i �-� -�rGt ��<iif�� <!)1�'1�� �u:i�

'<!)� I 

e) What are the problems in measuring the extent of unemployment in India '?
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0 Ilow can the ratio of direct taxes lo gross domestic product be increased in 

India? 

g) What are the possible dangers of the full convertibility of Indian rupee on

capital account?

h) Define the concept of 'fiscal deficit' and 'budget deficit'.

i) Illustrate the problems of female labour in India.

j) M<'nlion some of the impacts of ·globalization' on export performance of the

Indian economy.

GROUP-B 

��-� 

Answer any two of the following questions. 

8l-C-r>lr1��� �� I 

2 X 8 = 16 

2. Discuss briefly how the process of glolbali%allon has affected agricullural sector in the

Indian economy.

3. llow far has the 'eXit policy· of the Indian Government contributed towards the

growth of industries since 1991?

4. Analys<' the major changes in the Indian Tax - structure since 1991.

5. Discuss the basic weaknesses of the Trade Union movement in India.
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GROUP- C 

�'i'f -'i'f 

Answer any four of the following questions. 

8!'-�-� �0'R:1 ffl �� I 

ECOA (HN)-06 

. 4 X 15 = 60 

6. Analyse briefly the major changes in the sectoral compositio:n of India's National
Income during the plan period. What conclusions can be drawn from these changes
about the transformation of India's economic structure.? 9 + 6

9fffi<f)�;rf<f)1CG'f ��C\!>?I � �� 0t>�'i'f\5 <f'VC.:i?t C<! �� 9f��� \-,fO,'(� Cj'f�M �"I � I I!!�

9frn<ri5--l C�C<fi �T.<r�� ���<fl �17>1� ·?11� ">r'i!0fi � �� � <Trn ?

7. Analyse the impact of Green Revolution on agricultural output. employment and
income distribution in India. Do you think that a second Green Revolution is
necessary at present to raise the per capita availability of foodgrains in India? 11 + 4

�?!� � t��. �j'f�� <.!l<t� � <PVC""-Bf �9f?I �'{,sf ·f<f-m<I� �� f.f�'t <fl¥-, I \!ill� � �

� ��� �ITI"'Pif ef� � �� � �� '5t:<ro:5 �� � f<t�� �� � ?

8. Comment on the nature of institutionalization of rural credit in· India. Discuss in this

connection the role of NABARD in providing rural credit. 10 + 5

�� �°il�'i'f\!5 �'t '<:!let �<rnr� -�r:<f \$9Bl ��<lJ <()� l <.!I��� ��"1 '<:ll"1 ��
NABARD-<.!l� �ffll �0.,W.f! <fl�-, I

9. Critically examine the disinvestment policy of the Central and State Governments

adopted in Indian Public. Sector Enterprises. 15

�t�H-l\$ m�� � \S � ���� � �� �'i'f g_lVR:l � 91�C�ff5'1! <TS":� I

10. What were the major objectives for introduction _of Public Distribution System ( PDS )
in India ? Justify the continuation of such a scheme dependent on a substantial
government subsidy. 9 + 6 

� 'if� <tJ<r�1 � � �� ��M � � ? ¥ 9ff�q ��-wl ,��m �w.u I.!!� �'r-BI 
'i'f���m�j'f��cq� I 

1 1 . Comment on the interaction between money market and capital market 1n India since 
the initiation of the New Economic Policy reform measures in 1991. · 15 

) <ll <ll) �W, �-;;i ��<fi ���Bl� -TT� '?ff9fffit't� 9f?I '5Rf� '5:fC� <ITIST� \S lG'f� � 9Kf"'9fcm!. 
��'7� � �TC<! �� �1 ��'1 <I'>�� I 
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West Bengal State University 

B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2011 

Part - III . 

ECONOMICS - HONOURS 

Paper - VII 

Duration : 4- Full Marks : 100 

1. 

Candidates are required to give their answers in their own words as Jar as practicable. 

1he figures in the margin indicate.full marks . 

. GROUP - A 

~'Sf - .. 

PART-I 

Answer any three of the following questi9ns : 3 X 4 = 12 

a) Explain the concepts of sampling dislribution and standard error of a statistic. 

b) The joint probability distribution of two variables is given below : 

y 
0 l 

X 

0 
· 1 1 
8 8 

1 1 5 
8 8 

Evaluate the marginal dislributlon of X and condllional distribution of Y given 

X = 1. 

x~~ ~ ·A~ ~ct, Y~ ~'Pf'Jf At<P·~ ~'rn ·~~ ~~ x = 1 1 
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c) State lhe Central Limit theorem.

Central Limit �9f 9f'fl1ll'G Jc4"1_;J I

d) Mention some important properties of £-distribution.

c) Argue whether the following statement is lrue or false :

0 

"If H
O 

is accepted at a 
1 

% level of significance, it will definitely be accepted at

ex 2 o/o lev,el of significance where ex 1 < ex 2." 

"<AA H
O 

a 
1 

o/o �1�9f<l ��m ( level of significance ) '1� ��. '!)l';<l \!)1 ex 
2 

% '51�9f<l 

� ( level of significance ) �� 'lf�� �� �� ·a 
1 

< ex 
2 

1" 

I\ I\ 2( )If e . = y . - y . where y . = a + bx . . show that var ( e . ) = o 1 - r 2 
. 

I I I . I t , I y 

<AA e i = ·Y 1 - y i . � C<T� y 1 = a + bx 1 , '!5C:<t cw�.1r01 C<J 

PART - II 

Answer any one of the following questions l' x8='8 

a). i) A normal population has a standard deviation of 10. A random sample of

size 25 is taken which has a mean 50. Construct a 95% confidence
interval estimate of the population mean [ 1 0.025 = 1. ·96] .

-!l�fG � 9f 9fCi;<i"fC'<i� ')'J�Ffl �TN> 10 I �<1SfG ���� .qrl'l 0'8m �� � � �'�

� 25 -!I�, � 50 I 9f� 5f�� 95% confidence interval estimate A'f'�

� 1. [ 't 0:025 .= 
l ·96 ] .
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c) State the Central Limit theorem.

Central Limit �9f91i'11ffl �1� I

d) Mention some important properties of £-distribution.

e) Argue whether the following statement is true or false :

'.'If H O is accepted at a 1 % level of significance, it will definitely be accepted at 

a
2 

% level of significance where a 1 < a 2." 

"� H
O 

a 
1 

% '51�9fef � ( level of significance ) '>J"� �$1, '5f.<f '51 a 
2 

% \!\1�9f<l 

� ( level of significance ) �ffi '>J"�'!i �""C<l �� ·a 1 < a 2 1" 

0 If e i = y i - y i where y i = a + bx c . show that var ( e i ) = cr ! ( l - r 2 ' .

� e i = Y 1 - Y i � C<T� Y i = a + bx c , \!il:<f Cff� C<l 

var ( e 1) = cr ! ( l - r 2 )

PART- II 

Answer any one of the following questions l'x8=-8 

a) i) A normal population has a standard deviation of 10. A random sample of 

size 25 is taken which has a mean 50. Construct a 95% confidence 
interval estimate of the population mean [ t 0.025 = 1-96 J 

t!l<f:ifG �c-j 9f9[Cc'P'f�� �r�!J<TS �W5 10 I 1£1<!)� ���<I �.-fl <JN3sll �cii <11?1 � .,,�� 

� 25 t!l<l� � 50 I 9f� 'ifC-�'?1 95% confidence interval estimate Fl'l�
� I [ t 0,025 .= 1·96 J 
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ii) 

60 

Given the information that 

n n 

L e~=41·767. L ( e 1 -e 1 _ 1 )
2

= 60·213,dL= l-08,du= 1·36, 
t = I t = 2 

wou ld you accept that d~sturbance terms are autocorrelated according to 

this information ? 4 + 4 

t = I t = 2 

-!I~ "5t~<r ~1~r~ ~9ff.1 ~C<I .£1fflt<tS ~~~ <!)1:t'C<f-:i c~ ~,wr<fsrlif 9f\1~~ ~~ 
~~')'j~~~? 

b) I<"it a second degree polynomial trend to the following data and estimate the 

c) 

trend value for 2003. 6 + 2 

Year 1996 

Goods carried 37 

( in ·ooo tons ) 

~ 1996 

9f'U ~ 37 

( ·ooo m ) 
1 

Given J ( X ) . = e . 

1997 1998 

38 37 

1997 1998 

38 37 

Os x s e 

= O. elsewhere 

1999 2006 2001 2002 

40 41 45 50 

1999 2000 2001 2002· 

40 41 45 50 

to test H
O 

: e = l , against. H 
1 

: 0 = 2 on the basis of observation x. Find the 

probability of Type-I and Type-11 errors if the critical region be x > 0·5. 

4+4 

C\'f'<3m ~ f ( X ) 
1 

= () • -o ~ x s e 

= 0. ~~ 

m-1~9 x--!I~ ~-f~r~ H 
O 

: 0 = 1 .£!~, H 1 : 0 = 2 <Tib~ <1">$1'~ ~-C-<t I lM t:i~~ '5l~'4-<l~ 

~ x > 0·5, ~ Type-I .£1(f, Type-II ~ >i-Sl~til ~'Bl ~ 
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PART- Ill 
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Answer any two questions : 2 X 15 = 30 

a) Obtain the average expectation and standard error of sample proportion of a 

statistic (1) with replacement and (ii) without replacement. 8 + 7 

b) 

c) 

(1) ~~91'".:f ~t9fC>if ~<f, (ii) ~91-1 <tN.<fC"<f> "i~~ ~9ftt~ '>fl¥ ~ '6 }'j1!f<fi ~~ 

f.l'm~ I 

i) Explain the notions of unbiasedness, consistency. efficiency and 

sufficiency of an estimator. 

~~ ffl"~~ u nbiasedness, consistency, efficiency \Q<f, sufficiency-~ 

~'11~~~~~ I 

ii) Conside,r a · set of n Bernoullian trials with prob.ability of success. p. 

i} 

With i lh trial we may associate a variable xi having the p. mf 

. f ( xi / p ) = p xi ( 1 - p ) 1 - x i for x 1 = O. l. 

Show that I xi · is & sufficie!}t statistic for p. 

· n BemoulUan trial-IQ"?:! ~~ ~~ ~~ .~ <!Bf )l1~Ca-JJ?1 ~<T.:rt p I 

i th trial~ '1fte'9ft'ili' XI ~ p. mj. Of\$m -~ ~ 

J ( x,/ P) =px1 ( 1 - ·p) I - xi;~~ x 1 =-0. 1 

Of~ QI L x i' p-<,!I~ sufficient rl~ I 

8+7 

The ranks of 10 students in two subjects. Mathematics and English are 

given below : 

Student: }' 2 3 4 5 6 7 8 9 10 

Rank in Mathematics : l 2 3 4 5 6 7 8 9 10 

Rank in English : 10 7 2 6 4 8 3 1 5 9 

Find the rank correlation co!!fficient using Spearman's formula. 
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~= 1 2 3 4 5 6 7 8 9 IO 

~~= 1 2 3 4 5 6 7 8 9 10 

,~~= 10 7 2 6 4 · 8 3 1 5 9 

ii) Whal arc the consequences of heterosccdasticity ? 8+7 

Heteroscedasticity ~1<1~WI ~ MS ? 

d) Given the following data of 20 . pairs of observations on X and Y : 

2 IX,= 228, I Yi= 3121, IXiYi = 38927, IX,= 3204. 

L xi y £ = 3347-60, Ix~ = 604,80. Ly~ = 19837. 

1) Fit an estimated sample regression line of Yon X. 

ii) Find out the ~E of estimators. 

Estimator-<!.!~~~~ ~'rn ~ I 

iii) Construct the confidence intervals for the parameters at 5% level of 
significance. ( Given t 0 .025. 18 = 2· 10 I ) 5 + 5 + 5 

5% ~~91<1 >lhmJ 91JT~'i,tnt~ confidence interval f;i'fil c:i,~ I 

( Clf'Gll1 ~ t 0 .025. 18 = 2· l O 1 ) 

Answer any three questions : 

GROUP- B 

~~-~ 

PART ~ I 

3 X 4 = 12 

a) What do you mean by basic feasible solution of linear programming problem ? 

~~ c!flffi~-<!.I ~~ ~~ ~~-i <r~ ~ c~rc~ ? 
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b) Distinguish between pure strategy and mixed strategy in game theory.

c) Given MC = 4 + 0·08x.

MR= 12. Find out total profit of the firm. 

Given total cost (TC)= 0 when x = 0. 

01-em� MC= 4 + 0·08x. 

MR= 12. 

d) Let I ( i ) = 3t 1 ;a . What will be the capital formation in the time period of

5 years and during the last year of the plan period ( i.e .. in. the 5th year ) ? Also

find out the time path of capital .when k ( 0 ) = 25.

�Cif �� I ( t} ;; 3t 
1 13

. I 5 ·�� �B!f:l 7St"ilJ �� 51� � �°C<! ? 91ffi<tS$Jill (1)1� � <1�CT:I

( ��� 9f���@ )�����"'C� ?�����'ti��"'C<l<l� k ( 0) = 25?

e) An individual's utility function from his wealth ( w ) is given by

u ( w ) = A - Be - cw ( B, C > 0 ) .

The individual plans on investing his total wealth in a project . The probability

that the ·project will generate a gain of l 00 units of wealth is p. On the other

hand it may give rise to a loss of 90 units of wealth with probability ( 1 - p }. 

Will the person's decision to do the project or not be affected by the level of

his initial wealth ?

u ( w ) = A - Be - cw ( B, C > 0 ) 

<Ufu;it � � � \£l� UCiSf� �'If �1 ��on � 1 � c� 1 oo \£l<P<15 

�vr � �� p 1.'5ft<m:1 �- C� 90 \£l� Cil11<15>ilC-1� >i�l<l�f ( 1 - p ) I 
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PART- II 

q. Answer any one question lx8 =8 

a) Consider the following general equilibrium model.

b) 

w.a
LI + r.a 

KI 

=pi I 
. � Price System. · 

w.a
l..2 + r.aK2 = P 2

au .x1 +aL2·X2 =

. 
LI_,_ 

--, Output System.
a KI · X 1 + ?- K2 · X 2 = K 

Notations have their usual meaning. 

Now show with the help of the Cramer's rule that an increase in the 
endowment of one factor will increase the output of that commodity where 
production technology is more intensive in that factor and will reduce the 
output of the other commodity. 

:net>� '>ff��'1 �,��J<l'& �Cib�fG �C<fl5.:n <fl� i

w.a
LI + r.a 

Kt = P t
I � '1� 9fv.hfb

w.a12 + r.aK2 = P 2 

au··x1 +aL2 : X 2 =L }
� ��9fl� � 

a Kl · X 1 + a K2 • X 2 = K 

( 16��m �'5TM"<f) �K.:f �HI� �� ) 

i!l� i!l� �� Cramer-<.!l?f f.BroE:r ��f Ol Clf� 81 C<fi� i!l<I$ @9ff-f1C� 9ff<f-fl'11� C9fC-� o,l: 
'@� AA� 81 ��J '@�9ff� -�� � �1 ��9ffvrc-� ef.�'1 � 91R<1 i!l<1� \!)'f� ���

. t���9fl� I 

i) Given the market demand function as

P = 105 - 2·5X where X = X 1 + X 2 •

Cost functions of the firms are 

C 1 = 5X 1 and C 2 = l 5X 2 •.

The leader is the luw cost firm 1. The leader assumes that his rival will 

adopt the same price and will produce an equal amount of output. Find 

equilibrium price and quantity of the leader. What will the follower rival 

do ? Does the follower maximise his profit ? 
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<IT-911� t:i1�1f1 i.!)lC9f'ipC<11� ">l-l1'l<fl?l"f 01'6$11 �le� · P = 105 - 2·5X l<l�rc� 

X = X I + X 2 �ri irro� <IHI i.!)l(;�<f) ,t�c:tl�"f �'� �'1 C I = 5X I -!l<I�

C 2 = 15X 2 I 

' 

� �ml� <i-111 I �-i7f lfei9fN5 I lfG'f� �c.:i <tlC�.:/ C<! Rrf.l Q1 "11.i � <f>�C<lil 1£1<1� � 

�'1 ��9111fi{ ��r-<li! \!5Bf �M�'G � '51,pf�"f <li�C� I -!I� �fi � 

� -e 9f�"f Rffrn"f <fl�� 1 � �'f'"�t� �M'ffl � � ? �-e � m � 

��<l',l <fi�C� 9frnt<I� ? 

· ii) Assume that the market demand function is 

P = I 00 - 0·5 X where X = X 
1 

+ X 
2

. 

There are two colluding firms whose cost functions are 

C 
1 

= 5X 
I 

and C 
2 

= 0·5 X � respectively. The central agency of the 

Cartel aims al lhe maximisation of joint profit. Find ou_t X 
1
• X 

2
, P and 

joint profit.

�� <tS":� Q1 �<f.<I 6T�vr1 '5TC�� �<t>�"f �a, 

P � I 00 - 0·5 X C<l�il X = X 1 + X 2 I

.rffl �� �C�J C<!1� '5/TC� I �Torn <1ns '5ft9f�<!S � lf00'1 � <I� 

C I = 5X I �<I� C 2 = 0·5 X � 

��� � ��9ftGMI ��If������ 

X 
1
• X 

2
, Pl!l<I� ,f��,;;g; ����Of� I 

4+4 

c) Consider an economy with fixed endowments of two factors. which are used to 

produce two goods, which in turn are consumed by two persons. Derive the

Pareto efficiency conditions for (i) Pareto-efficient production and (ii). Pareto-

IF-259 ! 

efficient consumption. 4+4 

-Q�.;i l!l�lU ���� <t>Qfl fD�1 <fl11>.:J C<l�C.:i � 9ff.<nTI'1 'flt �9f1'1T� ��rn � ttfu 9f'1J 

@�91111.:i <tS<:11 �"ll, ClJ 9f'1J 1m '5fl<rrn � <lJro> c'51'5f � 1 �� 151'� � � Mc'Tm 

9fJfCf.fW1-�'BI ��� H*i9f"f <fl'Wi{ � 

. i) �cl,t-� %�911� � <ft � 

ii) 9fJT�-� �,;rn � I
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PART-m 

6. Answer any two questions : • 2 X 15 = 30 

b) 

t) 
' 

What are the Hawkins-Simon conditions in a two industry LeonUef Static 

Open Mode.I ? Give the economic interpretation of the Hawkins-Simon 

conditions. 

'!.it fiittf AAI fb firn .. ttrnq ~ ~ ~->i~lli?l -rt~~ fifs fifs ? ~~ 

11f'5-afiR! "151~M ~t.91lf' cm~ -~ 1 

ti) Determine the gross output vector X for the industries 1. 2 and 3. given 

the mairlx of technical coefficients A and the final demand vector B: 

I) 

~ ffl !tN5~1-i 1. 2 ~~~ 3 I ~ ·OOU '@t,~ t'S'fl ( X ) f.fffi~'t ~ ~~ 
. ~~~'f~~A~~~CfflB0l'6l11~: 

· [ 0·3 0·4 O· l l [ 20 l 
A = 0·5 0·2 0·6. , B = l~ ' . 10 + 5 

O· l 0·3 0· 1 30 

Why is a constant-sum game also called a zero-sum game? 

U) What ts saddle point solution ? When is a strategy dominated by another 

strategy ? Explain With a suitable example. 

~ 9fOPG ~~ ~ fc,s ~? ~ ~ ~ ~~ ~ ~ ?f'S1~ ~ ? 

i9flJ,U ~'1 ~~ ~ ~ I 

W) Consider a two-person constant-sum game where A and B are the two I 
players and.A's pay-off mat..rtx ls 

Player B 

Player A [ : ~ ] 
Determine the value of the game and the optimal mixed strategies for 

each player. 3 + 5 + 7 



c) 

d) 

i) 
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�<t$ � <UW f�fxf� ��<tS-811� c�4 ·�� m-.:11>oTt <P-� ��� �· c��� � A 
<!l<f, B I A� C9f-�<1 �"Jl �� � 

C�B 

(��A[: �]
c'l'f� � <!l<t� ��� c�ca-m:1rc-lf,<f <fl11TJ rir!t c<!Si� R"rn � 1 

Why is the knowledge of dual imp-ortant ifl Linear Programming 
, analysis? 

c�� c��' �c� C"<l�. ( dual J �'fmj C<fi� ��91{ ? 

ii) Find·out the dual of the following problem:

Max. Z = 5x + 6y 

x+ys5 

2x + 3y S 12

X 2:: 0, y 2:: 0. 

iii) Solve the following Linear Programming problem with the help of the
Simplex method

i) 

�cir� �� ��Tc,:u Rm! �<IS c��' � ��� � �

Minimize 

subject to 

Z 
1 

= 4u + 8v + 2w

1 
2 

u + 2v + 4w 2:: 4 

U + V - 2W 2:: 6 

U 2:: 0, V .2:: 0, W 2:: 0. 2 + 3 + 10 

Suppose that the market demand and market supply functions are 

Q dt = a - f3P t 

Q st = - 'Y + c)P t 

( a. f3 .> 0) 

c 1. a > o J 

The price adjustment is in:versely proportional to the lnventory 
accumulated such 'that 

p 1 + 1 =p t - a ( Q st - Q dt) (a> 0 ).

Interpret the time-path of price. 
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Q dt = 0: - �pt 

Q st= -y + oP t

68 

( o:. � > 0 )

( y. a> o > 

i.mi ��� � � � �� �9fll� 151�� 

pt+ I = p I - <J ( Q st - Q dt) ( <J > Q ). 

ii) If the sellers always increase the price by I 0% of the amount of the

decrease in inventory and if the demand curve has a slope of - 1 and

the supply curve a slope of.,-}5 ( both slopes with respect to price axis).
what type of time path P

t 
shall you find? 12 + 3

� '5T� � c� C<11'ilt.:iq1c�rn1 � � 1 o �� � � �� � � ��

1'M-:- 1 �ll �<t� 8TI� �� W'115 � ( '!fflumm � fi� )��
� 91� p

t 
�91�?
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West Bengal State University 

B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2011

Part - III 

Duration : 4 Hours 

ECONOMICS - HONOURS 

Paper - VIII 

Full Marks : 100 

Candidates are required to give their answers in their own words as Jar as practicable. 

The figures in the margin indicate fiLll marks. 

GROUP-A 

���� 

( Full Marks : 50 ) 

( 9l�·g 10)

Answer any two questions. 

1. What do you understand by de-industrialisation of India during the nineteenth

century ? Explain its underlying causes and overall impact on the Economic

development. of our country. 5 + 10

��xt X1'314f1C\5 \5Bt'!><1C<l '5f<l-� � � c� ? �-fir�r.-:rn �'f�falf �<!� '611�WBI � ·

'51� � �� �ffl � <U'l�Sl � l /

2. Trace the development of irrigation in India during the British rule. In this

connection, discuss the famous ·railway vs it:rigation' controversy. 8 + 7

� Xff���1"CG1 '5!�C\5 �fc-fC�1a;·?t @-::r.re--<Br �<ITTG <!"Fl1 <pW� I��� �9f@f� 'C:�91� � iSiiilOlb'

�fG '511Cc416--ll �-;:i I
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3. Explain how the theory of 'Economic Drain' helps to elucidate the form of exploitation

exercised by Britain over India. 15 

� �'cf) ��<IS �� gj� R>� �� H�1"1<fl� � � �� � � �
�C��I

4. Discuss the causes and outcomes of commercialization of Indian agriculture during
the British rule. 15 

Answer any one question from Q. Nos. 5 and 6. 

���Q����".:{������-���ffl� 

5. Critically examine the policy- of discriminating protection introduced in India during

6. 

7. 

the inter-war period. 8

Examine the evolution of a system of Gold exchange standard in Briti&h India. 8 

Write short notes on any three of the following : 

� Cffl � f<l�� '89R:f � �� � 

,l Home charges 

b) Land Revenue System under Permanent Settlement

c) Mode of assessment of Land Revenue in 'Bombay Presidency'

d) New guarantee system of railway construction·

e) Negative aspects of Managing agency system

�J1c.:if@r� �� � �� �

t) Effects of great Depression of the l 930's on Indian Economy.

���o� � '61?1\51� �� '8� �-9" � � I

3 X 4 = 12 
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GROUP-B 

��--.. 

( Full Marks : 50 ) 

( 91.� � qo )· 

Write an essay on any one of the following topics : 

��� ���l�r� � C<f)Trl � ,,-�C'"<fl �f>.ff �� � 

a) The Keynesian revolution·: its nature and impact

b) Theories of Consumer behaviour

c) Theories of consumption function

d) lnternational trade and economic development

ECOA (HN)-08 

1 X 50 = 50 

e) Rural-Urban migration of labourers and ·economic development of developing

countries.

0 Land reforms in India. 

�1.� �fil-)1��-rn I 

Problem of women labour in India: 

h) Multinational Corporation and the Indian l<:conomy.

<!��cf$ >,�� �<!� '6T.�� '51�R\ I

i) Problem of food security in Indian Economy.

�T�� '51�-� � �<:ft��

j) Achievements and failures of India's Five-Year Plans.

�Hr� 9f�� .ef.'��� �a,J- '$ <U�
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k) Recent Agricultural problems in Indian Economy.

1) The tax structure in India.

m) Investment criteria for a developing economy.

n) Financial Sector Reforms in Indian Economy.

o) Problem of Public Sector enterprises in India.

p) CATI, wro and developing Countries.
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